
 

 

 

 

Situation:  attack Russia  

(Photos: Uros) 

Match RUS ‐DEN  

Second part  

Photo 6: The LB receives the ball towards the goal and engages the duel in front of the 

defender. The RB is now in the position CB. The two pivots hold their block’s position. 

 

 

 

 

 

 

Photo 7: The LB tries to beat the direct defender. The central defender is able to run around 

the pivot who is coming to help his partner. The LB has several possibilities to pass (pivot or 

CB). 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

Photo 8: The LB passes the ball to the CB. The situation of numerical superiority (4x3) is 

possible on the left side of the attack. 

 

 

 

 

 

 

 

photo 9.  

The CB shoots out of a surprising position, difficult to achieve against the two defenders. 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

Photo 10. 

The bounce shot is successful: the GK is beaten. 


